
 
 

 
 
 
 
 

Hranol Podstava Sieť Vzorce 
Kocka 
 

 
 
 

Štvorec     

S = 2. Sp + Spl  

 

 S = 6.a.a 

Pravidelný 4-boký hranol 

 

Štvorec    
S = 2. Sp + Spl  

 

 S = 2.a.a + 4.a.v 
 

Štvorboký hranol-kváder 

 
 

Obdĺžnik  
 

  
 

S = 2. Sp + Spl  

 

S= 2.a.b + 2.a.v + 2.b.v  

Štvorboký hranol 
 
 
 
 

Kosoštvorec   
 

S = 2. Sp + Spl  

 

S = 2.a.va + 4.a.v 

 

Štvorboký hranol 

 
 

Lichobežník 
 

  
S = 2. Sp + Spl  

 

S = 2. 
(𝑎+𝑐).𝑣𝑎

2
 + a.v + b.v +c.v +d.v 

 
 
 



 

 
Pravidelný 3-boký hranol 
 

 
 
Rovnostranný 
trojuholník 

 
 
 

 
 
S = 2. Sp + Spl  

 

S = 2. 
𝑎.𝑣𝑎

2
 + 3.a.v 

 
 
 
 

Trojboký hranol 

 

Pravouhlý 
trojuholník 

  
S = 2. Sp + Spl  

 

S = 2. 
𝑎.𝑏

2
 + a.v + b.v + c.v 

 
 

 
Trojboký hranol 

 
Všeobecný 
trojuholník 
 
 
 
 
 
 

  
S = 2. Sp + Spl  

 

S =2. 
𝑎.𝑣𝑎

2
 + a.v +b.v + c.v 

 
 

Pravidelný 6-boký hranol 
 

Pravidelný 
šesťuholník 
 

  
S = 2. Sp + Spl  

 

S = 2.6. 
𝑎.𝑣𝑎

2
 + 6.a.v 

 
 
 
 

 
 


